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Class=c

No 

No Yes

No Yes



Gender

1

Male Female

Age

2

Adult Child

Node 3 (n = 1667)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Class

4

3rd 1st, 2nd

Node 5 (n = 48)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 6 (n = 16)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Class

7

3rd1st, 2nd, Crew

Node 8 (n = 196)
Ye

s
N

o

0

0.2

0.4

0.6

0.8

1
Node 9 (n = 274)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1



Gender

1

Female Male

Class

2

3rd, Crew1st, 2nd

Yes
 (n = 219, err = 49.8%)

3

Class

4

2nd 1st

Yes
 (n = 106, err = 12.3%)

5
Yes

 (n = 145, err = 2.8%)

6

Class

7

3rd, 2nd, Crew 1st

Age

8

Child Adult

No
 (n = 59, err = 40.7%)

9

Class

10

3rd, Crew 2nd

Class

11

Crew 3rd

No
 (n = 862, err = 22.3%)

12
No

 (n = 462, err = 16.2%)

13

No
 (n = 168, err = 8.3%)

14

No
 (n = 180, err = 34.4%)

15



Gender

1

Female Male

Class

2

3rd, Crew1st, 2nd

Node 3 (n = 219)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1

Class

4

2nd 1st

Node 5 (n = 106)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1
Node 6 (n = 145)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1

Class

7

3rd, 2nd, Crew 1st

Age

8

Child Adult

Node 9 (n = 59)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1

Class

10

3rd, Crew2nd

Class

11

Crew 3rd

Node 12 (n = 862)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1

Node 13 (n = 462)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1

Node 14 (n = 168)
Ye

s
N

o

0
0.2
0.4
0.6
0.8
1

Node 15 (n = 180)

Ye
s

N
o

0
0.2
0.4
0.6
0.8
1



Gender
p < 0.001

1

Male Female

Class
p < 0.001

2

1st 2nd, 3rd, Crew

Age
p = 0.002

3

Child Adult

Node 4 (n = 5)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 5 (n = 175)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Age
p < 0.001

6

Child Adult

Class
p < 0.001

7

2nd 3rd

Node 8 (n = 11)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 9 (n = 48)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Class
p < 0.001

10

Crew2nd, 3rd

Node 11 (n = 862)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 12 (n = 630)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Class
p < 0.001

13

3rd1st, 2nd, Crew

Node 14 (n = 196)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 15 (n = 274)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1



Gender
p < 0.001

1

Male Female

Class
p < 0.001

2

1st 2nd, 3rd, Crew

Node 3 (n = 180)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1
Node 4 (n = 1551)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1

Class
p < 0.001

5

3rd 1st, 2nd, Crew

Node 6 (n = 196)
Ye

s
N

o

0

0.2

0.4

0.6

0.8

1
Node 7 (n = 274)

Ye
s

N
o

0

0.2

0.4

0.6

0.8

1


